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77X K% FrlE ~ 1Sl i; L—X L—X Simplify Circuit HS%% 9:30 10:01  10:31 11:01
L S I—XRE a—X#E, -10:00 -10:30 -11:00 -11:30
LRI
BAR ER Ffe AMOLC Vi o o 1 3 4
BAR FRBET BER & 1 3 4
BAR el ESEEE s 77 oi o 2 3 4
AAR Bl —= Team Aqua Ve o 2 o 1 1
BAR BEO t5 7] AGE L LB pi [ o 3 1 2 4
BAR TEH %8 MSEES & 1 1 o 1
BAR Xig BE BTER =3 2 1 3 4
B Mk — Seaweed =3 [ 1
B L& BF seaweed =3 1 o 1 3
BAR 2 FE— ClubPBr R34 & 1 3
B PN HAHLDE # 1 3
BAR NS Seaweed V-3 [ o 2
BAR Pk BRF MSEE= pi 1
B oAl K IWACCHO Vi 4 3 2 1
BAR 37 NE=E e =3 o o
B\ RH X T TBRC V-3 1 2 3 4
BA\R S vy Ty ARV AEE #H 4 1 2 3
BAR (37 NI R MSEES & 2 1 3 4
BAR AR h— MSEES= =3 2 1 3 4
BAR ST Eot # 3 1 2 4
BAR HO BEH%E Cob—7¢ & 2 [ 1
BT 8 &8 Voi 4 3 2 1
BAR IR RE HROLY 77 7205586 et 1 2 3 4
B\ 3N F#EOLC # () o 1
BAR =il e EAERE i 1 2 3 4
B EIs DILHE2TH Vai 4 3 2 1
BAR HEE BEOLY 77 7205585 et 4 3 1 2
B BEAR EHE SleepingShee =3 1 1 1 1
AAR AO MeE7F Vai 1 2 3 4
BAR NFE EoE V=3 1
BAR HHE RE Clubp 3L & 2 1 3 4
BAAR E BT TN 1396496 et 1 2 3 4
BAR A B AOLK V=i 3 2 1 4
B " HE E#{FMoxina OK 8648704 Vai o 1
BAR B RE OLCIL—s%— 8640515 et 2 1 2 3 4
B/\Z,  Chuang Peichi Moxina OK 8662075 V=i [ ) 1 2 3 4
BAR MH &= R S i [ o 1 2 3 4
B HS flfE HHEDE Vai 2 4 2 1 3
BAR B BF ClubprRE 3 =3 1
B IR HE AMREMOLC et 4 3 1 2
B HHA h2 Vai 2 1 3 4
BAAR FRE EE ClubRa R 3L i 1
BAR e 3 =3 3 1 2 4
B\ FHRE ®E BWEOLC #
BAR BIEE 8t Vi [ o 1 2 3 4
BAR KEF 538 =3 1
BAR PN N IRESC] RFEHR =3 1 2
ERAS:" BRWEE ABHOLC H 2 1 4
BAR JCHR A ClubpBaRE 3L 7 X 2 o 4
BAR AEM W% & 1
BAR AN FEN KBROLC 7203644 et 1 2
ERAS:" HHE &2 RMEOLC v [ 2 1
BAR EBE —F %ROLA i 1
BAR BIK B TY i 1
BAR [P NDERT =3 1 3
EPAG:S =ik &8 L—LEYITH poi o 1 3
BAR IR BAT O-Support RAE 1
B BR FE 0OPC43 Vi 4 1 2 3




BREE= BARR & — FRRIFHE
e
752 K% FriE < 1Sl ij; L—X L—2Z Simplify  Circuit Hsalﬁ 9:30  10:01 10:31 11:01
L S J—2#H 32— -10:00 -10:30 -11:00 -11:30
L&
B SN FKolk i 1 2 3
BAR RAS JERR HROLY 77 i 1 2 3 4
BAR BH = ClubPRIZY i 3 1 2 4
BAR A EE BHROLZ 57 7205575 % 1 2 3 4
B RE 18K 1A3HIEFHERR! i 3 1 2 4
BAR e & Club FRs2L i o o 1 2 3 4
BAR =H ED REOLY 77 RAE 2 1 3 4
BAR BT EA HEHOLC i 2 1 3 4
BAR ek % 7 1 2 3 4
EUAG:" L2 Rz FFC EIN 1 2 3 4
BAR AH A B AOLC Ve 4 1 2 3
BAR RA Bk Y- 7344054 % 3 1 2 4
BAR HE =T F#REOLC i 1 2 3 4
BAR FHHE KE DIFHE 7
BN BA BE OLCIL—/$— 3 4 3 2 1
BAAR NN AHDE & 4 1 3
BAR IR #5—BD k#0K Vi
BAR Fart B ISR 7 3 4
BN EH BT y-3 4 1
B Fih 270 k20K EIN 4 1
BAR BROEE F#REOLC i 1
BAR BIE f&1E OLCIL—/8— 7 1
BAR R BT LIREFR i 4 1 2 3
B Wk = JEMOLC i 1 2 3 4
BAR Ll EE T-93322h-av2" A%-F-4 7 1 2 3 4
BAR = BE ZAROLC 7 2 1 3 4
BAR g Bk ClubPRIZY i 1 2 3 4
BAR BB ) HES 7 4 2 1 3
BAR N F THE NORTH WIND D= 2 1 3 4
BAR EK (LT ARHOLC 7 1 2 3 4
BAR BK BT AREHOLC 7 1 2 3 4
BAR H1& FAOLC 507412 i 1 2 3 4
B & Mt HBEAOLK i 4 3 2 1
BAR % Zth ESBIEC 7 4 3 2 1
BAR YRR fEAED BRKF R i 2 1 3 4
B Rk #X KOLA i 3 1 2 4
BAR it = BBV 77 i 1 2 3 4
BAR KE 1% ESBIEC 7 3 1 2 4
BAR Bk 2] MES i 3 1 2 4
B BT A1T HAHDE 7 4 3 1 2
B HE $BE BEAOLK i 1 2 3 4
BAAR 58 2 BXx0OC e 1
BAR AT R ESEIEC Ve 2 1 3 4
B Tl EX REOLY 57 7 4 3 1 2
AAR R AKX PR AOLC & 1 2 3 4
BAR E+ Al KV & 5 BEDHR EYN 1 2 3 4
BAR BR E= JIFEOLC Ve 1 2 3 4
AAR I OK-info S 3 1 2 4
BAR TN JTEk "R 7 1 2 3 4
B\R NI CLx»L»L»0C =3 1 2 3 4
BAR TR =8 MSEES i 1 2 3 4
B =15 EM Cx L% L»0C =3 1 2 3 4
BA\R BT L Cx» L% L+»0C V=3 1 2 3 4
BAR i —Z ClubBaRE3Y EYN 2 1 3 4
BAR B JES FAOLC 7 4 1 2 3
B AR FR ‘BEAROLC i 1 2 3 4
BAR Rk ALE BEAROLC i 1 2 3 4
BAR B R ‘EAROLC 7 1 2 3 4
BAR A B HAHDE 9670617 % 1
B R 8 ClubBRgEY pai 2 2 1 3 4
BAR Rkt FUEKRZF RAE 2 4




IBHEE= BARR & — FRRIFHE
e
752 K% FriE < 1Sl i; L—X L—2Z Simplify  Circuit Hsalﬁ 9:30  10:01 10:31 11:01
L S J—2#H 32— -10:00 -10:30 -11:00 -11:30
L&
BAR INUREZ FUEKRZF RAE 1 2 3 4
BAR /KL BLZE FEKF EIN 1 2 3 4
BAR /N EZES FUEKRZF EIN 1 2 3 4
B A NN FEAFE RAE 1 2 3 4
B BIE # FEARF RAE 1 2 3 4
BAR BETY FEKRF EIN 1 2 3 4
BAR thiE B4 FUEKRZF RAE 1 2 3 4
BAR Rk 18 KOLC EIN 2 1 3 4
B Eit & ClubBrREEY i 2 4 1 2 3
BAR ALE N R EIN 1 2 3 4
BAR WE %78 FH= i 4 3 1 2
B =% Al—83 {> K< =3 1 2 3 4
BAR I B+ FmOLC i 2 1 3 4
BAR Ehila: 7 2 1 o 2 1 3 4
BN HR =i B AOLC Ve 1 2 3 4
BAAR I 5¥F ClubBrREEY & o o 1 2 3 4
B GEEES ZAKOLC i 2 1 3 4
BAR AR BT ZAROLC 7 2 1 3 4
BAR = REOLY 77 i () 1 1 [ )
BAR =tRE B AOLK & 1 3 4
B HH HHEDE p-i 3 1
BAR fEFx M KOLC 7
BAR AH L KOLC i
BAR B = KOLC 7
B a7l KEE Eok Vai
BAR BH MR KOLC 7
BAR HkFH FEh KOLC i
B =i K Cx L L»0C E 1
BAR & 1aid ESEIERC i 1
BAR AR HIE ESEI®Y 57 i
BAR =S FEARTE 7 () () 1 2 3
BAR Rk a1 B XOC/#EOLC i 2 3 4
BAR ER EF PIF RS 7
BAR BB LK EERD EIN 4 1 2 3
BAR a2 BEER i 4 2 1 3
BAR xR E=ER BMEOLC i 2 1 3 4
B N E F Vai 1 2 3 4
BAR I SiF HRE 7 4 1 2 3
B 23 Mz & EDhEMS i 1 2 3 4
BAR A7 EfE "R # 2 1 3
BAR faE BA =3A0LC i 3 1 2 4
BAR KET B RAOLC EIN 1 2 3 4
BAR BR 2% ZAOLD RAE 1 2 3 4
BAR E A58 ZAOLD EIN 1 2 3 4
B HE B8 ZAOLD RAE 4 3 1 2
BAR EEPERELE 7 2 1 3 4
BN BRI R L L»L»0C =3 4 3 1 2
BAR & BEOLY 77 i 4 2 1 3
B IR KB sEs # 3 1 2 4
BAR N 7 1 2 3 4
BAR XH B8 DIFBHE i
BAR SRIEE & EOEMS # 3 1 2 4
BAR AIBF ZRE dB NUOC RAE 1 2 3 4
BAR BB K— NUOC EYN 1 2 3 4
BAR AR HEC NUOC RAE 1 2 3 4
B R K NUOC EIN 1 2 3 4
BAR AR YN: NUOC RAE 1 2 3 4
BAR TH NUOC EYN 1 2 3 4
BAR A RE NUOC RAE 1 2 3 4
BAR EiZ K NUOC RAE 1 2 3 4
BAR TIE BE FZAOLD RAE 1 2 3 4




BRRER

BARRXZ— FRAEL

e
752 K4 FriE < 1Sl ij; L—X L—2Z Simplify  Circuit HsEllﬁ 9:30  10:01 10:31 11:01
L S J—2#H 32— -10:00 -10:30 -11:00 -11:30
L&
BAR B B AfEHOLC =3 2 3
BAR FE E#% =AOLC/ b —% X i 1 3
BAR INTIR: REOLY 77 EIN 4 2
BAR EFHEZN HAOLC i 1
BAR %k —BRFE Ve 2 1 3 4
BAR N ERE ESBIEC 2088821 4 2 1 3
BAR BT EE REOLY 57 i 2 1 3 4
B =H RN FER14 7
BAR BT E— g AOLC i 1 2 3 4
BAR 1EH —8 BT AROLT EIN 1 2 3 4
BAR FEHE fliR BT AKOLT RAE 1 2 3 4
BAR = EE BT AROLT EIN 1 2 3 4
BAR W ERX BT AROLT RAE 1 2 3 4
BAR Y NI ] BT AROLT RAE 1 2 3 4
BAR 371 1&F /INAOLC RAE 2 1 3 4
BAR HE X BBV 77 7 2 1 3 4
B FIEA M REOLY 7 8640519 o 2 2 3 1 2 4
BAR A =K MSEES 7 1 2 3 4
BAR AR BEX ks i 1 2 3 4
BAAR HiE FZ B#MOLC & o 2 o 1 2 3 4
BAR BT F— QUEST i 1 2 3 4
BA BF T QUEST i 1 2 3 4
=EPAG:Y NZNEE=R 1) F— 7L RRT— 7 R BB B 2 1 3 4
B ok ET RAE 1
BAR Al BX =3A0LC/ k=% & i 3 1 2 4
BARX  FER FKE RAOLC EIN 1 2 3 4
BAR R A2 ClubPRIZY i 1
BAR ¥ R RAE 4 1 2
BAAR A A nuoc e 1 2 3
BAR B E RAE 1 2 3
t== =k ER > EERER i 1
t=5 ERET F EERER 7 1 2 3 4
== IR AR <y Ty AR—YRAtE i 1 1 o 1
Sy HE AT TWMU OLK i 4 1
=5 SRR KER TWMU OLK Ve 4 1
gty ELINE AR™MOLC 1396139 % 1 2
t== BH RF 7 o 1 o 1
== He FT Sans-souci 7344056 b= o 1 1 1 2 3 4
=5 HH = i 1
=5 i ¥ ARIHOLC i 1 2 3 4
£ TR ARIHOLC 302710 i 1 2 3 4
== B R IE AREHOLC 1393119 % 1 2 3 4
t= B —F HZO0LC Ve 2 1 3 4
=5 KA #HF ARIHOLC i 1 2 3 4
= st =i > ERES 7 2 1 2 3 4
Sy AR B A BB 7 3 1 2
+t== NI BZ ClubfRIZY i 2 1
£ RE K "RE 7 2 1 3 4
==K KEF BB TEHOLC V-3 o o 2 1 1 1
+t== EH = RAOLC i 1 2 3 4
t== P BN FAOLC 7 1 2 3 4
£ Ng B¥F # () 1 1 [ ) 1 2 3 4
== EEESESPN FEOLC 8664051
=5 Il BF 7 3 1 2 4
+t== na &#E i 1 2 3 4
==K Al &5k =i 1 2 3 4
£ AT I FHEILHESKR14ZE # 1 2 3 4
== L% 1aF 7 1 2 3 4
=5 R BE ‘EAROLC Ve 1 2 3 4
£ R ®A FEOLK i 1 2 3 4
== JRHE EE FROLC i 4 1 2 3




BRRER

e
K4 FrlE <~ A Sl %% L—X L—X Simplify Circuit felghs
N N S
L&
== BRI BEF REOLY 7 i 2 1 3 4
t== Rig 2HF& ZARKF Losovem  RAE 2 1 3 4
+t== BRE SRF B AOLK EIN 4 1 2 3
t=5 =97 feH REOLY 57 Ve 1 2 3 4
== £ 7= F ClubBr R3S # 1 o 1 2 3 4
£ A g2 #3EOLZ 5 7'/OK-Info =3 3 1 2 4
+t== Bl EE BBEPER i 4 2 1 3
+t== BEE=H ClubBrRE %Y 7 1 2 3 4
== fER —18 e # 4
+£== IR ARHOLC EIN 1 2 3 4
=5 NE B running suuport 7203625 b 1 2 3 4
£ Hif HX 7 1 () 1
== =B HE = 7 3 1 2 4
== EH & ISR # 4 2 1 3
t== S ERES BX0C Ve 2 1 3 4
£ FE KN 2IEHE # 3 1 2 4
==K W E=E b—Hh V-3 3 1 2 4
+t==x LT B NUOC EIN 1 2 3 4
t== a BF HEF a1 i 1 2 3 4
t== AFEBER E#[EOLC i 1 2 3 4
£ Rk X BLerARE RAE 2 1 3 4
t==x A BEE ClubBaEE3Y 7 1 2 3 4
==K A O D ZR%ZOLC V=3 1 2 3 4
== =H-—& ClubBrREY pai 1 2 3 4
+t==K HEOHCH ZR%ZOLC RAE 1 2 3 4
+t==R FE = HRAERS i 2 1
+t== AR ED HRE i 3 1 2 4
£ EE E BRAOLC EYN 2 1 3 4
+t==K (ST PN BT AROLT RAE 1 2 3 4
== HE B ESEAEs 7 7 EIN 4 2 1 3
+t== BE BXEF REOLY 77 9201800 4 3 1 2
£ ARHF 2K LT &5 BFEDR i 1 2 3 4
= RS MR FAROLC 7
=5 IR HER NER EIN 2 1 4
+t== FE%F Ehk I 20LC 2112591 kA% 1 2
£t LA EF RAE 1 2 3 4
== e EZ E /N i 1 2 3 4
y Wk &R 7 1 2 3 4
= MRED =3 1 2 3 4
hF BX 7 1 2 3 4
AR 2R REOLY 77 i 3 2 1 4
HHS HE REEKOLK 7 o 2 1 3 4
VEL/NE S AREHOLC 190157 Ve 2 1
FicH ZE7R ARIHOLC 9102205 % 1 2 3
IR ZBR ARIHOLC 1003933 & 1 2 1 1
FEEE H—HEVITH 7 1 2 3 4
e 1 AREHOLC Ve 1 2 3 9
ARH RE BEERH= # 4 2 1 3
1Ll BASC ALIROLC 7 () 1 2 3 4
B ED ARHOLC 7209253 2 1 3 4
A RKis AREHOLC 7209249 % 2 1 3 4
R BT 22 FWOLC i 1 () 3 1 2 4
REF EHF] ZRZ0LCOG i 1 o
Z% 8 Rl EEOLC i 1 3 4
IkH B51& OCATE 7206935 1 3 4
HTE 83 # () 2 3 4
=S ih 7R T7 =X i 1
AR BEA BEAROLC i 1 2 3 4
HH A B AOLK i () 3 1 2 4
=4 Et BAX0C i 2 1 3 4
AR fEZ2 OLPEE 1038650 & 4 3 2 1

BARRXZ— FRAEL




BRRER

BARRXZ— FRAEL

s =1
752 K4 FriE < 1Sl %% L—X L—2Z Simplify  Circuit felghs 9:30  10:01 10:31 11:01
N L S J—2#H 32— . -10:00 -10:30 -11:00 -11:30
L&

== B B # 2 3
== N PRI # 1 3
=R B BE FRKF EIN 4
=R el BEFF Ve 1
== AN BF Ve 1
="z F N/ C»L»LC»0C FAE 1
=3 FE RN i 1 2 3 4
=" I ZETh P—% X FAZ| @ 1 o 4 3 2 1
== A BRE ABROLC # o 3 2 1 4
== K5 R VI D 7300028 4 2 1 3
=<3 X5 BT Yo 2= 7344005 % 4 2 1 3
=<3 i ZEE8 7 o [ ) 2 3 1 4
== FO RE SiEoLC 8185484 % 2 1 3 4
== BIR 5LE teamN 7205576 4 3 1 2
=<3 R B YTC78 RAE 4 3 1 2
=<3 NS HE ARIHOLC i 1 2 3 4

- 15 1518 HREIAZ A&l @ 0 1 o

- N2 A HFRET KT *A 2| @ 1 1 o

- N RN HEREI KRS RAE ) 1 0 o

- RH X HRETKRZ A&l @ 0 1 o

- B &z ERET KT A&l @ 1 1 o

- AR T2 HRET AT *AE| @ 0 0 ([

- A 8 HRAERHE 8664053 *A%&| @ 1 1

- H F BA0C 8664055 *AZ&| @ 1 2

- HE BT 8664054 kA% o 1
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